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Problem-01:

Sobution -

(revestote three addstess code fox the _-Fotfow?n%_

c=0
do

it (o< &) then
2+t

else
K—=5
C++;

3wikie (c<S)

1) ¢ % 7‘; .Ti.u.

2) % (a<B) geto (4) io(g Tc ::TS

3) gao (F) 0 i (e<d gato (2
yi |

o gsto @)

) Te=%x1
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p -91/06?/67'\:’03:‘ (enentate thvee addviess code fost-
white (\VA<C and, B>85) do

?I_ A=1 4hen Cc=C+1

else

whife A< =D

do A=W+B

50&1'1;‘0&:’ 4hyiee addyess code 1s-

04 (A<C) .goto (3)
g goto(1®)
4) ﬂo'\’,o (15)
5) c'}_ (A ==_1) 2010 (4)
6) 301’.0 (1(D

+) T1 = C+d

9) goto ('i)

) % (ac=8) goto (1)
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P%O%f)&m' 03* G‘lenEHcﬁ:E thyiee addwess code fo¥-
M

Sobution -

cwiteh ( ch)
a

case 1: c=0a+bs Bveak;

case 2: C=0-b> Byeak ;

‘ij!. ch=1 grﬂ:o L1
1} c?\:e 3010 13
£ T4 = atb

c=T1
goto Lost

£: rp=a-b
c=T2
ao'bo fast

dast -
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Problem 4

Constmuct o DAL forthe {otﬁob\ﬁng +hyiee addyess code -

o= b+C
t1= O.% O
B - ti+o
c=t1%b
12 =c+b
o =t t2
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Soluwbion

__—‘

Longtyu &i’ng o. DAG+

K A AR A RKLRKRR KK
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Preblem-s -
Considest the fobfowing code -

ﬁﬂ0c£= 0,

t=1;
do
L

prod = prod + alfd = BCJ ;

?,-.: t+35

Fwhie € 1< =10);

~Af) f:omju‘le 4he 4hnee addyess code.

£) Compite the Bosle Blocks ond dwaw the fiow gaph, .
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Sotabion -

D) frod=0

2 L=

2 T1= 4%l
4 TR a(71]
57 T3=1-n‘~lc:
Q). T pLTZ]




3) Recavse fist stotemerit s 0. Peadest - So,
ﬁ’{O&:O fa o leades. .

0o (-]
Atso, Because tavget statemerb of o condthonal o3t uncendtienal goto IS

adexL - So .
o- leadert ’ T1= 4%t % afso o feadeXt.

it 9 2 blocks as -
Ahus, 4he above genem‘tecf, thyiee addyess code can Be}“”ﬁhe"e‘f’ into

T1= 4%V
2= ol11]
T3 = ln'mt

T4 = BLT3]
15 = T2 ¥ T4
T6 = T5+_§ﬁocf.
_ﬁ'ﬂoct'-"TG

’r:[-g t+1
=2

1 (1¢=10) goto B2

B2

i\

o— WK HKARKARR
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